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INTRODUCTION TO ALGEBRA

1. Find the rule which gives the number of
matchsticks required to make the pattern: A

pattern of letter H


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Zx0mHjWH37II

° Watch Video Solution

2. a line of shapes is constructed using
matchsticks. i) find the rule that shows how
many sticks are needed to make a group of
such shapes? ii) how many matchsticks are
needed to form a group of 12 shapes?

I TTIITTT T

Shape-1 _ Shape: 2 " Shape - 3 Shape - 4

o Watch Video Solution



https://dl.doubtnut.com/l/_Zx0mHjWH37II
https://dl.doubtnut.com/l/_ntGEEdnrSLw8

3. Find the rule which gives the number of
matchsticks required to make the following
matchsticks patterns. i) a pattern of letter . ii)

a pattern of letter ‘E. iii) a pattern of letter Z.

° Watch Video Solution

4. Make a rule between the number of blades

required and the number of fans (say n) in a

hall?

° Watch Video Solution



https://dl.doubtnut.com/l/_MnIoO2bivfEw
https://dl.doubtnut.com/l/_kNT0N950EOIj

5. ind a rule for the following patterns
between number of shapes formed and

number of matchsticks required?

WA /M AW
o] 17 ZTT1

o Watch Video Solution

6. The cost of one pen is ¥7 then what is the

rule for the cost of ‘n’ pens?

| 8 l


https://dl.doubtnut.com/l/_kNT0N950EOIj
https://dl.doubtnut.com/l/_KChs7HCBlvBu
https://dl.doubtnut.com/l/_xAYb82mr3sjh

7. The cost of one bag is ¥90. What is the rule

of ‘m’ bags?

° Watch Video Solution

8. The rule for purchase of books is that the
cost of g books is ¥23, then find the price of

one book?

° Watch Video Solution



https://dl.doubtnut.com/l/_xAYb82mr3sjh
https://dl.doubtnut.com/l/_PoTDTUA1xNS7
https://dl.doubtnut.com/l/_tQLAhr5Wpe2o

9. John says that he has two books less then

Gaytri has write the relationship using letter x.

° Watch Video Solution

10. Rekha has 3 books more than twice the
books with suresh. Write the relationship

using lettery.

° Watch Video Solution



https://dl.doubtnut.com/l/_wrTwrOoJMm3Q
https://dl.doubtnut.com/l/_Oh92s3nl5oJm

11. A teacher distributes 6 pencils per student.
Can you find how many pencils are needed for
the given number of students. (use ‘Z’ for the

number of students).

o Watch Video Solution

12. complete each table to generate the given

functional relationship.


https://dl.doubtnut.com/l/_lFJAlkdp7QcD
https://dl.doubtnut.com/l/_LVWya4keNtjT

i) X 12,345 9|...
IXF 2| 5 | ieie| vener | vnnne | voses | cvene 38
iﬂ d 1 3 E '? g E iiiii
B =1 | & | soies | cnen | nmee | comne | cuves 49

o Watch Video Solution

13. observe the following pattern. Count the
number of line segments in each shape. i) how

many line segments will such shapes contain?


https://dl.doubtnut.com/l/_LVWya4keNtjT
https://dl.doubtnut.com/l/_FCBQTPhHkOqY

i) write the rule for the above pattern.

AN/ AN

Shape-1 | Shape-2  Shape-3

NN ANN

Shape-4 Shape -5

o Watch Video Solution

14. Write the expressions for the statements: g

is multiplied by 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_FCBQTPhHkOqY
https://dl.doubtnut.com/l/_CckFrZ8Y3LrK

15. Write the expressions for the statements: y

is divided by 4.

o Watch Video Solution

16. Write the expressions for the
statements:one fourth of the product of

numbers p and q.

o Watch Video Solution



https://dl.doubtnut.com/l/_gPKgjcZKrBBT
https://dl.doubtnut.com/l/_arUnjPfDHlyc

17. Write the expressions for the statements: 5

is added to the three times z.

o Watch Video Solution

18. Write the expressions for the statements:9

times ‘n’ is added to ‘10’.

o Watch Video Solution



https://dl.doubtnut.com/l/_32cB0ApddxI1
https://dl.doubtnut.com/l/_Ds1OBOtOCk80

19. Write the expressions for the statements:

16 is subtracted from two times y.

° Watch Video Solution

20. Write the expressions for the statements: y
is multiplied by 10 and then x is added to the

product.

° Watch Video Solution



https://dl.doubtnut.com/l/_otvHHU4q48LL
https://dl.doubtnut.com/l/_Lu8h82yBZ76j

21. Write two statements for the expression: y-

11.

o Watch Video Solution

22. Write two statements for the expression:

10a.

o Watch Video Solution



https://dl.doubtnut.com/l/_IdMQwCc3IgOz
https://dl.doubtnut.com/l/_DVJQWIFjJRuY

23. Write two statements for the expression:

T

E

o Watch Video Solution

24. Write two statements

expression:3m+11.

for

the

o Watch Video Solution



https://dl.doubtnut.com/l/_go597H9z7ZMv
https://dl.doubtnut.com/l/_fkQYI4U319m3

25. Write two statements for the

expression:2y-5.

° Watch Video Solution

26. Pete has ‘p’ number of balls. Number of
balls with David is 3 times the balls with peter.

Write this as an expression.

° Watch Video Solution



https://dl.doubtnut.com/l/_7sktzAKk7sey
https://dl.doubtnut.com/l/_EDlHr9xjEOIn

27. Sita has 3 more note books than gita. Find
the number of books that sita has? Use any

letter for the number of books that gita has.

o Watch Video Solution

28. Cadets are marching in a parade. There are
5 cadets in each row. What is the rule for
number of cadets, for a given number of rows?

Use ‘n’ for the number of rows.

o Watch Video Solution



https://dl.doubtnut.com/l/_YVFkFU3ldUKB
https://dl.doubtnut.com/l/_qFFQ2gJVpH0k

29. Find the general rule for the perimeter of a
rectangle. Use variables ‘" and ‘b’ for length

and breadth of the rectangle respectively.

° Watch Video Solution

30. Find the general rule for the area of a
square by using the variable s’ for the side of

a square.

° Watch Video Solution



https://dl.doubtnut.com/l/_qFFQ2gJVpH0k
https://dl.doubtnut.com/l/_FQoJxAMMWSWL
https://dl.doubtnut.com/l/_J4R6abdxYKkv

31. What would be the rule for perimeter of an

isosceles triangle?

o Watch Video Solution

32. Find the n™ term in the following

sequence: 3,6,9,12,....

o Watch Video Solution



https://dl.doubtnut.com/l/_ADBxN4XPIXRV
https://dl.doubtnut.com/l/_hjbGqv3vGMpq

33. Find the n™ term in the following

sequence: 2,5,811,.......

o Watch Video Solution

34. Find the next term in the following

sequence: 1,8.27,64,125,.........

o Watch Video Solution



https://dl.doubtnut.com/l/_CUcps0DF3bQu
https://dl.doubtnut.com/l/_wCrn0CNpoAOH

35. Write LHS and RHS of simple

equations:2x+1=10,

o Watch Video Solution

36. Write LHS and RHS of simple equations:9=y-

2,

o Watch Video Solution



https://dl.doubtnut.com/l/_hnOHbEWmipeS
https://dl.doubtnut.com/l/_iViCN8s28A3f

37. Write LHS and RHS of simple

equations:3p+5=2p+10

o Watch Video Solution

38. Find the solution of the equation ‘x-4=2 by

trial and error method.

o Watch Video Solution



https://dl.doubtnut.com/l/_Pq8jLpRXvmgj
https://dl.doubtnut.com/l/_mhEQY1kq89A9

39. Write any two simple equations and give

LHS and RHS.

° Watch Video Solution

40. State it is a equation ornot: x — 3 = 7.

° Watch Video Solution

41. State it is a equation ornot: [ + 5 > 9.

° Watch Video Solution



https://dl.doubtnut.com/l/_mgcWkW2aeCEr
https://dl.doubtnut.com/l/_zJoOmWmgXFdX
https://dl.doubtnut.com/l/_RR4jlkzmPjtF

42, State it is a equation or not: p — 4 < 10.

o Watch Video Solution

43, State it is a equation or not: p — 4 < 10.

o Watch Video Solution

44, State it is a equation or not: 5+m=-6.

o Watch Video Solution



https://dl.doubtnut.com/l/_RR4jlkzmPjtF
https://dl.doubtnut.com/l/_DQwEDGnNhEK7
https://dl.doubtnut.com/l/_nZjAT0WtkdHu
https://dl.doubtnut.com/l/_7HHO7pRpHuRn

45, State it is a equation or not: 2s-2=12.

o Watch Video Solution

46. State it is a equation or not: 3=z + 5 > 13.

o Watch Video Solution

47.State it is a equation or not: 3z < 15.

o Watch Video Solution



https://dl.doubtnut.com/l/_7HHO7pRpHuRn
https://dl.doubtnut.com/l/_TZzngnX2veGR
https://dl.doubtnut.com/l/_DedtotiqYr6H
https://dl.doubtnut.com/l/_XDvsEgf3vLCN

48, State it is a equation or not: 12x-5=3".

o Watch Video Solution

49, State it is a equation or not: 7Ty + 1 < 22.

o Watch Video Solution

50. State it is a equation or not:

—3z+ 6 = 12.



https://dl.doubtnut.com/l/_XDvsEgf3vLCN
https://dl.doubtnut.com/l/_SsE9oo6KNTFu
https://dl.doubtnut.com/l/_FiOtrgIo9Y06
https://dl.doubtnut.com/l/_zlIzDS4acGrS

o Watch Video Solution

51. State it is a equation or not: 2z — 3y = 3.

o Watch Video Solution

52. State it is a equation or not: 2%=4.

o Watch Video Solution

53. Write the LHS and RHS of x-5=6.



https://dl.doubtnut.com/l/_zlIzDS4acGrS
https://dl.doubtnut.com/l/_LjpcGUQ6HkYi
https://dl.doubtnut.com/l/_cC6lm1kugsq6
https://dl.doubtnut.com/l/_ENvpGfVB1wfc

o Watch Video Solution

54. Write the LHS and RHS of 4y=12.

o Watch Video Solution

55. Write the LHS and RHS of 2x+3=7.

o Watch Video Solution

56. Write the LHS and RHS of 3p=24.



https://dl.doubtnut.com/l/_ENvpGfVB1wfc
https://dl.doubtnut.com/l/_cnSUn0OxPvJb
https://dl.doubtnut.com/l/_9S4Y9W4uACBs
https://dl.doubtnut.com/l/_a5VI22ZjV0uL

o Watch Video Solution

57. Write the LHS and RHS of 4=x-2.

o Watch Video Solution

58. Write the LHS and RHS of 2a-3=-5.

o Watch Video Solution



https://dl.doubtnut.com/l/_a5VI22ZjV0uL
https://dl.doubtnut.com/l/_KJdMAEKBj5Zx
https://dl.doubtnut.com/l/_UxHmr916BuOW

59. Solve the equation by trial and error

method x+3=5.

o Watch Video Solution

60. Solve the equation by trial and error

method y-2=7.

o Watch Video Solution



https://dl.doubtnut.com/l/_NUqu0iMhQKTQ
https://dl.doubtnut.com/l/_3ytdQEQTt9lz

61. Solve the equation by trial and error

method a-2=6.

o Watch Video Solution

62. Solve the equation by trial and error

method 5y=15.

o Watch Video Solution



https://dl.doubtnut.com/l/_wy9oTHqUGTBU
https://dl.doubtnut.com/l/_bvsVsqs5XhNu

63. Solve the equation by trial and error

method 6n=30.

o Watch Video Solution

64. Solve the equation by trial and error

method 3z=27.

o Watch Video Solution



https://dl.doubtnut.com/l/_IKlkCAbms5et
https://dl.doubtnut.com/l/_rVClRp538lal

65. Write the statement as expression adding

5to x.

o Watch Video Solution

66. Write the statement as expression

subtracting y from 11.

o Watch Video Solution



https://dl.doubtnut.com/l/_Mcj14rNxNYGP
https://dl.doubtnut.com/l/_ZsXcSLglwEDX

67. Write the statement as expression the

product of 2,Im.

o Watch Video Solution

68. Write the statement as expression the

dividing m by 6.

o Watch Video Solution



https://dl.doubtnut.com/l/_RflRCyGcjuS2
https://dl.doubtnut.com/l/_9FPUHEKkSxr6

69. Write the statement as expression 7 more

than 6t.

o Watch Video Solution

70. Write the statement as expression 9th part

of A.

o Watch Video Solution



https://dl.doubtnut.com/l/_rdLw6Ai85WWa
https://dl.doubtnut.com/l/_MUlWYezJF1hy

71. Write the statement as expression 2 is

added to three times k.

o Watch Video Solution

72. Write the statement as expression 10 less

than 3x.

o Watch Video Solution



https://dl.doubtnut.com/l/_kjoARzcNmv0c
https://dl.doubtnut.com/l/_EQglCbpVNUCW

73. Write the statement as expression 17 times

to 2b.

o Watch Video Solution

74. Write the statement as expression 11 more

than 3m.

o Watch Video Solution



https://dl.doubtnut.com/l/_qE3zahyTJVsZ
https://dl.doubtnut.com/l/_6WHmnbWcbcJ5

75. Write the statement using variables,
constants and arithmetical operations: the

perimeter of a square is four times its side.

o Watch Video Solution

76. Write the statement wusing variables,
constants and arithmetical operations: the

circumference of a circle is 27 times its side.

o Watch Video Solution



https://dl.doubtnut.com/l/_WXVSEyeveKmM
https://dl.doubtnut.com/l/_biKpABCawFrA
https://dl.doubtnut.com/l/_yXZ4OeGiCMZx

77. Write the statement using variables,
constants and arithmetical operations: the

area of a square is equal to square of its side.

o Watch Video Solution

78. Write the statement using variables,
constants and arithmetical operations: the
perimeter of a triangle is the sum of the three

sides of it.

° Watch Video Solution



https://dl.doubtnut.com/l/_yXZ4OeGiCMZx
https://dl.doubtnut.com/l/_kmMZdyRtGrX0

79. Write the statement using variables,
constants and arithmetical operations: profit

is the difference of S.P. and C.P.

o Watch Video Solution

80. The cost of one book is ¥ 13, then what is

the rule for the cost of ‘n’ books.

° Watch Video Solution



https://dl.doubtnut.com/l/_sBiJcEJg0TLT
https://dl.doubtnut.com/l/_tCkB6J5fCcYN

81. The cost of 10 books is ¥ p. what is the rule

for the cost of one book.

° Watch Video Solution

82. Jyothi has 5 books more than double the

books Sruthi has. Write the relationship using

[

y.

° Watch Video Solution



https://dl.doubtnut.com/l/_8AO58Sc63MtP
https://dl.doubtnut.com/l/_gThDOUJi6oNb

83. Raju’s age is 5 years less than the 3 times of
his father’s age. Express the relationship with

variable ‘b’

o Watch Video Solution

84. Sachin has scored 2 /3 of the runs scored

by Dravid. Express it with the help of variable

€ )

p.

o Watch Video Solution



https://dl.doubtnut.com/l/_xhwvHAcY8SW7
https://dl.doubtnut.com/l/_7CFA5juazQ2a
https://dl.doubtnut.com/l/_QSozjJhKwJoY

85. complete the table to generate the given

functional relationship.
R EI I I N
3%—2 1] oo low || | |13 ] 4 [10-11] 16

o Watch Video Solution

86. Solve the equation by trial & error method

x+7=10.

° Watch Video Solution



https://dl.doubtnut.com/l/_QSozjJhKwJoY
https://dl.doubtnut.com/l/_K0hxYFaJ06A1

87.Solve the equation by trial & error method

y-2=5.

o Watch Video Solution

88. Solve the equation by trial & error method

5t=20.

o Watch Video Solution



https://dl.doubtnut.com/l/_Og9WDl9qwTRx
https://dl.doubtnut.com/l/_xak67Cw2yxZe

89. Solve the equation by trial & error method

R
=,
3

o Watch Video Solution

90. Find the value of the expression (a+b+c)

when a=0, b=1, c=2.

o Watch Video Solution



https://dl.doubtnut.com/l/_w8ayvTa01w2H
https://dl.doubtnut.com/l/_26YJ7OD4mYc9

91. Find the value of the expression 2a+b-c

when a=1, b=2 and c=0.

o Watch Video Solution

3
92. A man saves 5 of his salary. Express by

using variable @’

o Watch Video Solution



https://dl.doubtnut.com/l/_PgY0iPw1eys4
https://dl.doubtnut.com/l/_yKvjkUoBthWg

93. Ravi scored 11 less than the twice that of

Kishore. Express it using the variable ‘Z’.

° Watch Video Solution

94. Find the number of matchsticks required

to make the following patterns: AH,V,W.

o Watch Video Solution



https://dl.doubtnut.com/l/_d5sdeiWJ9lAS
https://dl.doubtnut.com/l/_Dko2eUkfvM4T

95. find the rule for the following patterns
making ‘H.

H HH HH HH A

o Watch Video Solution

96. Observe the following number pattern:

1,3,5,7,9,.....write next 3 numbers in the pattern

o Watch Video Solution



https://dl.doubtnut.com/l/_0O0yWsnNEXJl
https://dl.doubtnut.com/l/_7bt15aaukbZl

97.Find the solution of the equation 3y-1=8 by

trial and error method.

o Watch Video Solution

98. Find the n'* term of the series (pattern) 1,

8, 27,64, 125,......

o Watch Video Solution



https://dl.doubtnut.com/l/_oXmroEdGlKBW
https://dl.doubtnut.com/l/_a4uEvbV985yZ

99. Complete the table to generate the given
the given functional relationship: y=3x+2.Find

slope of the line

o Watch Video Solution

100. If 3 stickers are needed to form one
human face, then how many number of

stickers required to form 5 human faces?

o Watch Video Solution



https://dl.doubtnut.com/l/_2OQcfRYq6Ruc
https://dl.doubtnut.com/l/_3vnFIhg46NI0
https://dl.doubtnut.com/l/_dxZ3PNCK0EFg

101. If 4 matchsticks are required to form a
sqare, then 64 matchsticks can ...

Number of sqares.

o Watch Video Solution

102. Write the LHS and RHS of: 3x+1=5.

o Watch Video Solution

103. Write the LHS and RHS of: %=8.

| & I


https://dl.doubtnut.com/l/_dxZ3PNCK0EFg
https://dl.doubtnut.com/l/_8nduaOq3oJAE
https://dl.doubtnut.com/l/_qQwDvAUSj8pW

| ¥ Watch Video Solution

2
104. Write the LHS and RHS of: y=§x+4.

o Watch Video Solution

105. Write in symbolic form x minus 3 times y.

o Watch Video Solution



https://dl.doubtnut.com/l/_qQwDvAUSj8pW
https://dl.doubtnut.com/l/_y6Glvxt11uU4
https://dl.doubtnut.com/l/_eXUhzdCmz2LZ

106. Write in symbolic form 22 minus p equal’s

-3.

o Watch Video Solution

107. Write in symbolic form think a number is

3
multiplied by 5, and add 2 to the product to

get 10.

o Watch Video Solution



https://dl.doubtnut.com/l/_jbaAemXMrrPe
https://dl.doubtnut.com/l/_PgsPd55fS5fA

108. Write in symbolic form square of p is

multiplied by q.

° Watch Video Solution

109. There are ‘m’ sections in the class.There
are 25 students in each section. Every student
pay ¥ ‘p’ fee every year. Find the total fee paid

by the students per year?

o Watch Video Solution



https://dl.doubtnut.com/l/_rQYNyq8PRzU1
https://dl.doubtnut.com/l/_lQHkMqY7JA3U

1. Number of pencils with Rama is 3 more than
Rahim. Find the number of pencils Rama has in

terms of what Rahim has?

o Watch Video Solution

2. Hema and Madhavi are sisters. Madhavi is 3
years younger than Hema. Write Madhavi's age

in terms of Hema's age?

I o Watch Video Solution


https://dl.doubtnut.com/l/_CONwcn6Mxz6Y
https://dl.doubtnut.com/l/_btnLqiCtPC2R

3. Write statement for the following
expression:

2p +6

° Watch Video Solution

4. Write statement for the following
expressions:

T+ x

° Watch Video Solution



https://dl.doubtnut.com/l/_btnLqiCtPC2R
https://dl.doubtnut.com/l/_1VHNJws0mUNQ
https://dl.doubtnut.com/l/_Dt4zCK7yLUqR

5. Madhu plants 5 more Groundnut seeds than
Bean seeds. How many Groundnut seeds does

he plant (take number of Bean seeds as 'm')

o Watch Video Solution

6. Number of pencils with Rama is 3 more than
Rahim. Find the number of pencils Rama has in

terms of what Rahim has?

o Watch Video Solution



https://dl.doubtnut.com/l/_Dt4zCK7yLUqR
https://dl.doubtnut.com/l/_tTCdxpzkMgL2
https://dl.doubtnut.com/l/_Ok0NT6LRyn7s

7. Hema and Madhavi are sisters. Madhavi is 3
years younger than Hema. Write Madhavi's age

in terms of Hema's age?

o Watch Video Solution

8. Write a statement for the following

expressions:

2p

o Watch Video Solution



https://dl.doubtnut.com/l/_Ok0NT6LRyn7s
https://dl.doubtnut.com/l/_uBSLrDtDX6tu
https://dl.doubtnut.com/l/_qQ7xRm7OjNAp

9. Write statement for the following
expressions:

7T+ x

o Watch Video Solution

10. Madhu plants 5 more Groundnut seeds
than Bean seeds. How many Groundnut seeds
does he plant (take number of Bean seeds as

m')

° Watch Video Solution



https://dl.doubtnut.com/l/_gWySuAFkiD16
https://dl.doubtnut.com/l/_bswGtCfPUXoK

1. Can you now write the rule to form the

following pattern with match sticks?

o Watch Video Solution



https://dl.doubtnut.com/l/_bswGtCfPUXoK
https://dl.doubtnut.com/l/_3pQQlFFM2bao

2. Find the rule for required number of
matchstick to from a pattern repeating H?.

How would the rule be for repeating the shape

'L?

o Watch Video Solution

3. A line of shapes is constructed using

matchsticks .

[IrTIrTrrTITl



https://dl.doubtnut.com/l/_TfZwFihLPR3a
https://dl.doubtnut.com/l/_UjEXs5qG4Hmj

Find the rule that shows how many sticks are

needed to make a group of such shapes?

° Watch Video Solution

4. A line of shapes is constructed using

matchsticks .

[Tt rrTITl

Shape-1 Shape-.

How many match sticks are needed to form a

group of 12 shapes?

° Watch Video Solution



https://dl.doubtnut.com/l/_UjEXs5qG4Hmj
https://dl.doubtnut.com/l/_cnybPCwdMtVT

5. Find the general rule for the perimeter of a
rectangle. Use variables ‘" and ‘b’ for length

and breadth of the rectangle respectively.

o Watch Video Solution

6. Find the general rule for the area of a
square by using the variable ‘s’ for the side of

a square.

o Watch Video Solution



https://dl.doubtnut.com/l/_I2YeBHBErvsA
https://dl.doubtnut.com/l/_kP69yZ6KTFRh
https://dl.doubtnut.com/l/_AtBpUeNJYgUD

7. What would be the rule for perimeter of an

isosceles triangle?

o Watch Video Solution

1.Find the n'* term in the following sequence:

3,6,9,12,....

° Watch Video Solution



https://dl.doubtnut.com/l/_AtBpUeNJYgUD
https://dl.doubtnut.com/l/_ZNHRBute0uTz
https://dl.doubtnut.com/l/_vbnsC35IE77f

2.Find the n'* term in the following sequence:

o Watch Video Solution

3. Find the n'”® term of the series (pattern) 1, 8,

27,64, 125,.........

° Watch Video Solution

4, Write LHS and RHS of simple

equations:2x+1=10,


https://dl.doubtnut.com/l/_vbnsC35IE77f
https://dl.doubtnut.com/l/_hllWeOzmxk8O
https://dl.doubtnut.com/l/_Oap3y2aMoSMq

° Watch Video Solution

5. Write LHS and RHS of simple equations:9=y-

2,

o Watch Video Solution

6. Write L.H.S and R.H.S of the following simple

equations: 9p +3 = 2p+ 9

° Watch Video Solution



https://dl.doubtnut.com/l/_Oap3y2aMoSMq
https://dl.doubtnut.com/l/_4xTNu4qU6kWS
https://dl.doubtnut.com/l/_0hSIYlqogjUf
https://dl.doubtnut.com/l/_SWZSISwFnVY0

7. Write any two simple equations and give

LHS and RHS.

o Watch Video Solution

8. Find the solution of the equation ‘x-4=2" by

trial and error method.

° Watch Video Solution



https://dl.doubtnut.com/l/_SWZSISwFnVY0
https://dl.doubtnut.com/l/_akBH7fDPyDEK

9.Find the n' term in the following sequence:

3,6,9,12,....

o Watch Video Solution

10. Find the n'™ term in the following

sequence: 2,5,811,.....

o Watch Video Solution



https://dl.doubtnut.com/l/_RxSOHDXODK5z
https://dl.doubtnut.com/l/_u4dHAto73yS7

11. Find the n'” term of the series (pattern) 1, 8,

27,64, 125,........

o Watch Video Solution

12. Write LHS and RHS of simple

equations:2x+1=10,

o Watch Video Solution



https://dl.doubtnut.com/l/_MGuztUfvAU3w
https://dl.doubtnut.com/l/_umfhg6KhdfFx

13. Write LHS and RHS of following simple

equations:

9=y+2

o Watch Video Solution

14. Write LHS and RHS

equations:3p+5=2p+10

of

simple

o Watch Video Solution



https://dl.doubtnut.com/l/_7utvVUweDeuJ
https://dl.doubtnut.com/l/_SwrAi7f4vxho

15. Write any two simple equations and give

LHS and RHS.

o Watch Video Solution

16. Find the solution of the equation x-4=2" by

trial and error method.

o Watch Video Solution



https://dl.doubtnut.com/l/_4H0dPQodxnME
https://dl.doubtnut.com/l/_Xy5WKR45czN5
https://dl.doubtnut.com/l/_ZhALda2v9xyT

1. Find the rule which gives the number of
matchsticks required to make the following
matchsticks patterns. i) a pattern of letter ‘I'. ii)

a pattern of letter ‘E’. iii) a pattern of letter Z..

° Watch Video Solution

2. Find the rule which gives the number of
matchsticks required to make the following
matchsticks patterns. i) a pattern of letter I'. ii)

a pattern of letter ‘E’. iii) a pattern of letter Z..

I ° Watch Video Solution


https://dl.doubtnut.com/l/_ZhALda2v9xyT
https://dl.doubtnut.com/l/_OIxMsFplFvRA

3. Find the rule which gives the number of
matchsticks required to make the following
matchsticks patterns. i) a pattern of letter ‘I'. ii)

a pattern of letter ‘E’. iii) a pattern of letter Z..

° Watch Video Solution

4. Make a rule between the number of blades

required and the number of fans (say n) in a

hall?



https://dl.doubtnut.com/l/_OIxMsFplFvRA
https://dl.doubtnut.com/l/_Y97q87xQ5MSe
https://dl.doubtnut.com/l/_HjTqMYpx4CLi

Watch Video Solution

5. ind a rule for the following patterns
between number of shapes formed and

number of matchsticks required?

TANPAYANYAYAYAY
w1 11 _TL]

o Watch Video Solution



https://dl.doubtnut.com/l/_HjTqMYpx4CLi
https://dl.doubtnut.com/l/_U65xbgKMz8Ke

6. find a rule for the following patterns
between number of shapes formed and

number of matchsticks required?

Y ANVAVANVAVAVAN
w1 11 _T11]

o Watch Video Solution

7. The cost of one pen is ¥7 then what is the

rule for the cost of ‘n’ pens?

o Watch Video Solution



https://dl.doubtnut.com/l/_up3LmA07PozJ
https://dl.doubtnut.com/l/_F25INbzT0XLa

8. The cost of one bag is ¥90. What is the rule

of ‘m’ bags?

o Watch Video Solution

9. The rule for purchase of books is that the
cost of q books is ¥23, then find the price of

one book?

o Watch Video Solution



https://dl.doubtnut.com/l/_F25INbzT0XLa
https://dl.doubtnut.com/l/_hthvBUt5EcUj
https://dl.doubtnut.com/l/_sB6gDUgN7dVf
https://dl.doubtnut.com/l/_WdlIdm2AW68O

10. John says that he has two books less then

Gaytri has write the relationship using letter x.

o Watch Video Solution

11. Rekha has 3 books more than twice the
books with suresh. Write the relationship

using lettery.

o Watch Video Solution



https://dl.doubtnut.com/l/_WdlIdm2AW68O
https://dl.doubtnut.com/l/_Dnj6y9x1F5V3

12. A teacher distributes 6 pencils per student.
Can you find how many pencils are needed for
the given number of students. (use ‘Z’ for the

number of students).

o Watch Video Solution

13. complete each table to generate the given

functional relationship.


https://dl.doubtnut.com/l/_sA0myWFyulll
https://dl.doubtnut.com/l/_zFTqYlUPrt5V

i) X 1123, 4(|5]|09]...
IXF 2| 5 | ieie| vener | vnnne | voses | cvene 38
iﬂ d 1 3 E '? g E iiiii
B =1 | & | soies | cnen | nmee | comne | cuves 49

° Watch Video Solution

14. Observe the following pattern.

&/V/V\/\/\//\/\/\

Shape-1 Shape-2 Shape-3 Shape-4

Count the number of line segments in each
shape.
Find the rule of the pattern. How many line

segments will 9 such shapes contain?


https://dl.doubtnut.com/l/_zFTqYlUPrt5V
https://dl.doubtnut.com/l/_JjfvciGchOZv

° Watch Video Solution

15. Observe the following pattern.

A/\//\/\/\/\//W\

Shape-1 Shape-2 Shape-4

Count the number of line segments in each
shape.

Write the rule for the above pattern.

° Watch Video Solution



https://dl.doubtnut.com/l/_JjfvciGchOZv
https://dl.doubtnut.com/l/_HCqkGEIoVzRS

16. Find the rule which gives the number of
match sticks required to make the following
match sticks patterns.

A pattern of letter 'T'

o Watch Video Solution

17. Find the rule which gives the number of
match sticks required to make the following
match sticks patterns.

A pattern of letter 'E'

| & I


https://dl.doubtnut.com/l/_lX3RWERfibJg
https://dl.doubtnut.com/l/_XK2LX4cfKD44

| ¥ Watch Video Solution |

18. Find the rule which gives the number of
match sticks required to make the following
match sticks patterns.

A pattern of letter 'Z'

o Watch Video Solution

19. Make a rule between the number of blades

required and the number of fans (say n) in a

hall?


https://dl.doubtnut.com/l/_XK2LX4cfKD44
https://dl.doubtnut.com/l/_t72jzpkBYQux
https://dl.doubtnut.com/l/_cmQBMEpYHS84

° Watch Video Solution

20. find a rule for the following patterns
between number of shapes formed and

number of matchsticks required?

Y ANVAVANVAYAVAY
w1 11 _T11]

° Watch Video Solution



https://dl.doubtnut.com/l/_cmQBMEpYHS84
https://dl.doubtnut.com/l/_lDDcpaeiQJnb

21. The cost of one pen is ¥7 then what is the

rule for the cost of ‘n’ pens?

o Watch Video Solution

22.The cost of one bag is ¥90. What is the rule

of ‘m’ bags?

o Watch Video Solution



https://dl.doubtnut.com/l/_dTrzb5BBxH3K
https://dl.doubtnut.com/l/_aeAL7JkiOIHp

23. The rule for purchase of books is that the
cost of q books is ¥23, then find the price of

one book?

o Watch Video Solution

24. John says that he has two books less then

Gaytri has write the relationship using letter x.

° Watch Video Solution



https://dl.doubtnut.com/l/_y98Vflo6b0Ck
https://dl.doubtnut.com/l/_6wUezuA2YQCm

25. Rekha has 3 books more than twice the
books with suresh. Write the relationship

using lettery.

o Watch Video Solution

26. A teacher distributes 6 pencils per student.
Can you find how many pencils are needed for
the given number of students. (use Z’ for the

number of students).

° Watch Video Solution



https://dl.doubtnut.com/l/_uIfK6il74ZbI
https://dl.doubtnut.com/l/_vBF3fwu2GXMz

27. complete each table to generate the given

functional relationship.
i) X 1(2 |3 |45 9 |]...
EL N N Y T T P e 38
iﬂ d 1 3 E '? 9 E -----
52 =T | & | vers | cvens [ avnen | ssrsn | wonee 49

o Watch Video Solution

28. Observe the following pattern.

AN/V\/\/\//\/\/\

Shape-1 Shape-2 Shape-3 Shape-4



https://dl.doubtnut.com/l/_vBF3fwu2GXMz
https://dl.doubtnut.com/l/_nm0MNrb02kDM
https://dl.doubtnut.com/l/_YkmCtnPpUZ8I

Count the number of line segments in each
shape.
Find the rule of the pattern. How many line

segments will 9 such shapes contain?

° Watch Video Solution

29. Observe the following pattern.
AN N AN NN /\/\/\

Shape-1 Shape-2 Shape-3 Shape-4

Count the number of line segments in each
shape.

Write the rule for the above pattern.



https://dl.doubtnut.com/l/_YkmCtnPpUZ8I
https://dl.doubtnut.com/l/_G5NAgmbo86AZ

I o View Text Solution

1. Write the expressions for the statements: g

is multiplied by 5.

° Watch Video Solution

2. Write the expressions for the statements: y

is divided by 4.

| & ]


https://dl.doubtnut.com/l/_G5NAgmbo86AZ
https://dl.doubtnut.com/l/_ZC7U36z3yluF
https://dl.doubtnut.com/l/_y4oICu2XgLJs

| ' Watch Video Solution |

3. Write the expressions for the
statements:one fourth of the product of

numbers p and q.

o Watch Video Solution

4. Write the expressions for the statements: 5

is added to the three times z.

o Watch Video Solution



https://dl.doubtnut.com/l/_y4oICu2XgLJs
https://dl.doubtnut.com/l/_wRw8rC8z70NG
https://dl.doubtnut.com/l/_brFTtlf3FknO

5. Write the expressions for the statements:9

times ‘n’ is added to ‘10’.

o Watch Video Solution

6. Write the expressions for the statements: 16

is subtracted from two times y.

o Watch Video Solution



https://dl.doubtnut.com/l/_cKGtXvt2AH2g
https://dl.doubtnut.com/l/_aaezExaDohpH

7. Write the expressions for the statements: y
is multiplied by 10 and then x is added to the

product.

o Watch Video Solution

8. Write two statements for the expression: y-

11.

o Watch Video Solution



https://dl.doubtnut.com/l/_FHfvYJj4MYSB
https://dl.doubtnut.com/l/_JhMhOtImlsr4

9. Write two statements for the expression:

10a.

o Watch Video Solution

T

10. Write two statements for the expressionzg

o Watch Video Solution



https://dl.doubtnut.com/l/_nHAVphrIMCy0
https://dl.doubtnut.com/l/_oQtSyfj9tBfO

11. Write two statements for the
expression:3m+11.

o Watch Video Solution

12. Write two statements for the

expression:2y-5.

o Watch Video Solution



https://dl.doubtnut.com/l/_jqvFem7acpjQ
https://dl.doubtnut.com/l/_vIwGrimSf2a2

13. Pete has ‘p’ number of balls. Number of
balls with David is 3 times the balls with peter.

Write this as an expression.

o Watch Video Solution

14. Sita has 3 more note books than gita. Find
the number of books that sita has? Use any

letter for the number of books that gita has.

o Watch Video Solution



https://dl.doubtnut.com/l/_sBMftgD5pnjQ
https://dl.doubtnut.com/l/_q6WgBrs1KA9M
https://dl.doubtnut.com/l/_b0q6wdaa7Y2s

15. Cadets are marching in a parade. There are
5 cadets in each row. What is the rule for
number of cadets, for a given number of rows?

Use ‘n’ for the number of rows.

o Watch Video Solution

16. Write the expressions for the statements: q

is multiplied by 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_b0q6wdaa7Y2s
https://dl.doubtnut.com/l/_uzPb0JpLaozV
https://dl.doubtnut.com/l/_MgXvMoGy2Emn

17. Write the expressions for the statements: y

is divided by 4.

o Watch Video Solution

18. Write the expressions for the
statements:one fourth of the product of

numbers p and q.

o Watch Video Solution



https://dl.doubtnut.com/l/_MgXvMoGy2Emn
https://dl.doubtnut.com/l/_FCVRfCGcTd7X

19. Write the expressions for the statements: 5

is added to the three times z.

o Watch Video Solution

20. Write the expressions for the statements:9

times ‘n’ is added to ‘10’.

o Watch Video Solution



https://dl.doubtnut.com/l/_d3KhX0BubIWs
https://dl.doubtnut.com/l/_QGlYlnNbgpHZ

21. Write the expressions for the statements:

16 is subtracted from two times y.

o Watch Video Solution

22. Write the expressions for the statements: y
is multiplied by 10 and then x is added to the

product.

o Watch Video Solution



https://dl.doubtnut.com/l/_nJcH0CSbtGGN
https://dl.doubtnut.com/l/_w9pFcxgkLKnK

23. Write two statements for the expression: y-

11.

o Watch Video Solution

24. Write two statements for the expression:

10a.

o Watch Video Solution



https://dl.doubtnut.com/l/_ITauU8MHxFOn
https://dl.doubtnut.com/l/_ToQnL1xHSmij

25. Write two statements for the expression:

T

E

o Watch Video Solution

26. Write two statements

expression:3m+11.

for

the

o Watch Video Solution



https://dl.doubtnut.com/l/_0LEPXAJ6sXxg
https://dl.doubtnut.com/l/_RrvkuUNip1sc

27. Write two statements for the

expression:2y-5.

o Watch Video Solution

28. Pete has ‘p’ number of balls. Number of
balls with David is 3 times the balls with peter.

Write this as an expression.

o Watch Video Solution



https://dl.doubtnut.com/l/_xO2J8k0NMNRi
https://dl.doubtnut.com/l/_Z9lTuDmkMS7r

29. Sita has 3 more note books than gita. Find
the number of books that sita has? Use any

letter for the number of books that gita has.

o Watch Video Solution

30. Cadets are marching in a parade. There are
5 cadets in each row. What is the rule for
number of cadets, for a given number of rows?

Use ‘n’ for the number of rows.

o Watch Video Solution



https://dl.doubtnut.com/l/_YSkPCdBnXv0Q
https://dl.doubtnut.com/l/_wVyzcRa86GG3

1. State what is the vale of x in the equation.

r—3=7

° Watch Video Solution

2. State which of the following make this
equation true.

[4+5>9


https://dl.doubtnut.com/l/_wVyzcRa86GG3
https://dl.doubtnut.com/l/_zzXueMgjMSTK
https://dl.doubtnut.com/l/_AwsNyo2UCJdA

Al

B.5

C.3

D.O

Answer:

° Watch Video Solution

3. Which of the following equations are

correct

| 8 l


https://dl.doubtnut.com/l/_AwsNyo2UCJdA
https://dl.doubtnut.com/l/_Wt8ViyOe02Qw

4. State what is the value of m in the equation,
and type of equation..

5+ m= —6

o Watch Video Solution

5. State whether the following is linear
equation and value of s.

28 — 2 =12

o Watch Video Solution



https://dl.doubtnut.com/l/_Wt8ViyOe02Qw
https://dl.doubtnut.com/l/_KRMbYvHdXqvd
https://dl.doubtnut.com/l/_QTolCjTsUBHw

6. State value of x in the given equation.

3z +5> 13

° Watch Video Solution

7. State type of equation and value of x in the

equation.

3r < 15

° Watch Video Solution



https://dl.doubtnut.com/l/_QTolCjTsUBHw
https://dl.doubtnut.com/l/_efaDs8Ry3yRv
https://dl.doubtnut.com/l/_qtSUJcldafcB
https://dl.doubtnut.com/l/_f3NbUfeGyvn6

8. State x of the following equation.

2 —H =3

o Watch Video Solution

9. State value of y in the given equation.

y+1 <22

° Watch Video Solution



https://dl.doubtnut.com/l/_f3NbUfeGyvn6
https://dl.doubtnut.com/l/_DbPtz2V3ymfm

10. State z in the equation.

—3z+6 =12

o Watch Video Solution

11. State type of equation.

20 — 3y = 3

o Watch Video Solution



https://dl.doubtnut.com/l/_pg2fKBucm2Sz
https://dl.doubtnut.com/l/_NNxweQ0kNp1P

12. State type of equation and value of z in the

equation.

2?2 =4

o Watch Video Solution

13. Write the LHS and RHS of x-5=6.

o Watch Video Solution

14. Write the LHS and RHS of 4y=12.



https://dl.doubtnut.com/l/_RzBpdy8SZHVx
https://dl.doubtnut.com/l/_I0OqWUoZEVO6
https://dl.doubtnut.com/l/_UfiIK8nNJNGn

o Watch Video Solution

15. Write the LHS and RHS of 2x+3=7.

o Watch Video Solution

16. Write the LHS and RHS of 3p=24.

o Watch Video Solution

17. Write the LHS and RHS of 4=x-2.



https://dl.doubtnut.com/l/_UfiIK8nNJNGn
https://dl.doubtnut.com/l/_u40UNekrjo9F
https://dl.doubtnut.com/l/_Za0DGvc0yUDY
https://dl.doubtnut.com/l/_bF8qxA6Eif1b

o Watch Video Solution

18. Write LHS and RHS of the following

simple equations: 2a — 3 = 5

o Watch Video Solution

19. Solve the following equation by Trial &
Error Method.

r+3=5

o Watch Video Solution



https://dl.doubtnut.com/l/_bF8qxA6Eif1b
https://dl.doubtnut.com/l/_q5Sha3gL63b0
https://dl.doubtnut.com/l/_epG1NvYq0trf

20. Solve the equation by trial and error

method y-2=7.

o Watch Video Solution

21. Solve the following equations by trial and

error method:a — 2 = 6

o Watch Video Solution



https://dl.doubtnut.com/l/_epG1NvYq0trf
https://dl.doubtnut.com/l/_JIiBeLaK8iLi
https://dl.doubtnut.com/l/_VRwWVADtxRis

22. Solve the following equations by trial and

error method: 5m = 15

o Watch Video Solution

23. Solve the equation by trial and error

method 6n=30.

o Watch Video Solution



https://dl.doubtnut.com/l/_8OvMhI9O7UvG
https://dl.doubtnut.com/l/_eqOXGRnEXp3q

24. Solve the equation by trial and error

method 3z=27.

o Watch Video Solution

25, State which of the following are equations.

r—3=7

o Watch Video Solution



https://dl.doubtnut.com/l/_E7h0Z0aBqZcE
https://dl.doubtnut.com/l/_O5FclartsN2C

26. State which of the following make this
equation true.

[4+5>9

o Watch Video Solution

27. State which of the following are equations.

p—4 <10

o Watch Video Solution



https://dl.doubtnut.com/l/_Opq4FwJvkml2
https://dl.doubtnut.com/l/_TXCSW4UsIICs

28. State which of the following are equations.

5+m= —6

o Watch Video Solution

29, State which of the following are equations.

28 — 2 =12

o Watch Video Solution



https://dl.doubtnut.com/l/_gXlaAApe2EYm
https://dl.doubtnut.com/l/_ieuyfSwDPNoU

30. State which of the following are equations.

3z +5> 13

o Watch Video Solution

31. State which of the following are equations.

3r < 15

o Watch Video Solution



https://dl.doubtnut.com/l/_iNJlJ7SCdqgW
https://dl.doubtnut.com/l/_cMqImvwdMjy7

32. State which of the following are equations.

2c — 5 =3

o Watch Video Solution

33. State which of the following are equations.

y+1 <22

o Watch Video Solution



https://dl.doubtnut.com/l/_93jURnUcn1gS
https://dl.doubtnut.com/l/_2ijdw6ovdyJQ

34. State which of the following are equations.

—3z+6 =12

o Watch Video Solution

35. State which of the following are equations.

2¢ + 3y = 3

o Watch Video Solution



https://dl.doubtnut.com/l/_AG3doaF2EjkU
https://dl.doubtnut.com/l/_Omtntwd4rF2R

36. State which of the following are equations.

z=4

o Watch Video Solution

37. Write LHS and RHS of the following
equations.

r—5H=206

o Watch Video Solution



https://dl.doubtnut.com/l/_g8Gd9rMowfLw
https://dl.doubtnut.com/l/_0XqKLL9HC8pC

38. Write LHS and RHS of the following
equations.

4y = 12

o Watch Video Solution

39. Write LHS and RHS of the following
equations.

2z+3 =7

o Watch Video Solution



https://dl.doubtnut.com/l/_peP1ZGvlChee
https://dl.doubtnut.com/l/_4QOv03OIYLMM
https://dl.doubtnut.com/l/_2Aq4WNN8kbho

40. Write LHS and RHS of the following
equations.

3p =24

o Watch Video Solution

41. Write LHS and RHS of the following
equations.

4 = — 2

o Watch Video Solution



https://dl.doubtnut.com/l/_2Aq4WNN8kbho
https://dl.doubtnut.com/l/_mM4vpLVlIiOq
https://dl.doubtnut.com/l/_qhJYXUX2aEp9

42. Write LHS and RHS of the following
equations.

20a — 3= —5

o Watch Video Solution

43. Solve the following equation by Trial &
Error Method.

r+3=5

o Watch Video Solution



https://dl.doubtnut.com/l/_qhJYXUX2aEp9
https://dl.doubtnut.com/l/_nG3IpJYjCkEV

44. Solve the following equation by Trial &
Error Method.

y—2=71

o Watch Video Solution

45, Solve the following equation by Trial &
Error Method.

a—2=206

o Watch Video Solution



https://dl.doubtnut.com/l/_JLfODd5jqoVa
https://dl.doubtnut.com/l/_YKRGAOjNTloj
https://dl.doubtnut.com/l/_vij1Clny4pgs

46. Solve the following equation by Trial &
Error Method.

by = 15

o Watch Video Solution

47. Solve the following equation by Trial &
Error Method.

6n = 30

o Watch Video Solution



https://dl.doubtnut.com/l/_vij1Clny4pgs
https://dl.doubtnut.com/l/_8Hiw5eIcXXse
https://dl.doubtnut.com/l/_7lSHWfLmZz5O

48. Solve the following equation by Trial &
Error Method.

3z =27

o Watch Video Solution

1. Can you now write the rule to form the

following pattern with match sticks?


https://dl.doubtnut.com/l/_7lSHWfLmZz5O
https://dl.doubtnut.com/l/_cWnx5xH9FB0k

° Watch Video Solution

2. Find the rule for required number of
matchstick to from a pattern repeating H?.

How would the rule be for repeating the shape

'L?

o Watch Video Solution

3. A line of shapes is constructed using

matchsticks .


https://dl.doubtnut.com/l/_cWnx5xH9FB0k
https://dl.doubtnut.com/l/_wih8lELnGEE6
https://dl.doubtnut.com/l/_hZE4fIJlUula

MR RN IR

Shape-1 Shape-1 Shape-3 Shape-4

Find the rule that shows how many sticks are

needed to make a group of such shapes?

o Watch Video Solution

4. A line of shapes is constructed using

matchsticks .

uinniznniznns

Shape-1 Shape-2 Shape-3

How many match sticks are needed to form a

group of 12 shapes?

I o Watch Video Solution


https://dl.doubtnut.com/l/_hZE4fIJlUula
https://dl.doubtnut.com/l/_w5m1wvQxaP3W

5. Find the general rule for the perimeter of a
rectangle. Use variables ‘" and ‘b’ for length

and breadth of the rectangle respectively.

o Watch Video Solution

6. Find the general rule for the area of a

square by using the variable ‘s’ for the side of

a square.

o Watch Video Solution



https://dl.doubtnut.com/l/_w5m1wvQxaP3W
https://dl.doubtnut.com/l/_WyVWprLkk2lk
https://dl.doubtnut.com/l/_u6Uzmq3ErLY8

7. What would be the rule for perimeter of an

isosceles triangle?

o Watch Video Solution



https://dl.doubtnut.com/l/_u6Uzmq3ErLY8
https://dl.doubtnut.com/l/_o5L2NZgcNS4B

